= 1= O

*

F21%Y

(*FR264%E3R318)
#HeEuEAN BETHESELRES
ZTOMOYFRIEET (Bi:[)
HEOR BEDOE
MEA HEER IEIERS iR HME® HEER GIEIERS B
001 it B & E 76,134,158 77,290,318 A 1,156,160[051 % B B & 4,603,020 5770277 A 1,167,257
01 3 & 0 0 of o2 =* h il 4,603,020 5770277 A 1,167,257
02 T BT & 57,852,834 72,324,260 A 14,471426] 01 3k h & 4,603,020 5770277 A 1,167,257
o % B B #£ 57,852,834 72,324,260 A 14,471,426
04 kX Ut = 18,281,324 4,966,058 13,315,266 ARDHEE 4,603,020 5,770,277 A 1,167,257
o1 %k Ix % 18,281,324 4,966,058 13,315,266
HEEDE
058 JRAAMRBIE BN =40 72,963,665 71,776,413 1,187,252
002 B ® & E 1,432,527 256,372 1,176,155| 01 REAIRHIEBNUN K ZEE 72,963,665 71,776,413 1,187,252
02 DD EEEE 1,432,527 256,372 1,176,155 01 HTHAMRBLEBIN K 48 71,776,413 71,826,468 A 50,055
06 3% & & U fF & 1,432,527 256,372 1,176,155[ 02 LHAEBNUNZ =E4E 1,187,252 A 50,055 1,237,307
#BREOHEE 72,963,665 71,776,413 1,187,252
EEDOBEE 71,566,685 77,546,690 19,995 BARMBEUVMEEDEEE 77,566,685 77,546,690 19,995

BAMEIRETEE 238,868M (N LEA(EEN%E 132,985M)



